Al £ Ol & AL & Al A

0258 20ile =2 SE A X

SIA - BE - OI(BIH) - NIRAIR - BA Ol b e HIR=2
3,359,300 3,895,735 536,435
1,077,000
2,282,300
HOI2 IMFI Xel 3,359,300 3,895,735 A536,435
1,077,000
2,282,300
;\ﬁl_Fll—ﬁ\— 2 Ml (RNLASLEIA) (= 3,359,300 3,895,735 536,435
1,077,000
2,282,300
SHHIIZANERE NAOIEERKe 2,963,160 3,499,5% 536,435
1,027,000
1,936,160
201 L2 | 521,851 455,700 66, 151
200,000
[ 321,851
01 A=R2teld| 67,051 900 66,151
OBt Al DN JME 3002 *3,0000H 900
OIINEZLESH2AIE J|=a 66,151
02 2224l 454,800 454,800 0
02222 % MAl 454,800
—&01e3 35,000,000« 12& 420,000
200,000
o 220,000
—&ER3 2,900,000& = 12& 34,800
202 (44| 720 720
01 =WOdLI 720 720
ONESLBTHIE 942
0002 *3H*13* 720
307 212+01™ 2,233,782 2,403,175 A 169,393
827,000
1,406,782
05 QIZtRIErZ 2,233,782 2,403,175 A169,393
ON=EZaHelAlE 2telti 2,224,782
827,000
= 1,397,782
ON=EaEEXMeE AHER 9,000
401 A& BIZ 200 180,000 640,000 460,000
01 Al&HI 180,000 640,000 460,000
O}=E2=IIHT 0l 180,000
405 KHHE S| 26,807 26,807
01 XML =EF S| 26,807 26,807
OIIEERESH2UE =E2 16,275




M 23
B @IS MRl el
Col BAMHA L ELHR(ARPLSESIH) (SEIHASH3IH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— eI 3,850,000 «1CH 3,850
— &4 S00meter 4,345,000 1CH 4,345
L EEEEERES]
2,310,000 *1CH 2,310
—HEZEESH
1,650,000 *1CH 1,650
—Z=SIAIED| 2,035,000 *1CH 2,035
—g2+x 770,000 *1CH 770
—JtE W] 396,000 *1CH 3%
—O{ HE A 918,500 1CH 919
ONESLBTHE W) 7Y
3,366,000 *2CH 6,732
Oa8a d&31) 7Y
3,800,000 *1CH 3,800
ERAIIZAER2E KNYOIEERARSE 169,200 169,200 0
Jl 50,000
T 119,200
201 el 169,200 169,200 0
Il 50,000
= 119,200
2 35234l 169,200 169,200 0
0332 € AMAl 169,200
—dIIResS 14,000,0002 122 168,000
Jl 50,000
s 118,000
— a3 100,000& «12& 1,200
IIEEa AL 29 226,940 226,940
201 er23 | 225,500 225,500
01 At2teltl 225,500 225,500
OBADAIEIH] 2uH
7503 %300, 000 225,000
OJIEH AFREHI FAIHI 500
202 04| 1,440 1,440
01 =LHOLI 1,440 1,440
ONESLRRASAL BLEA
20,0002 x2H +33|* 122 1,440
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0258 20ile =2 SE A X

Al A

FA S2telt
B LAY
ol 2RI (SEINESESIH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
s2elt 4,095,432 5,065,479 970,047
Jl 3,864,163
= 231,269
+H2d 1,275,432 1,662,551 387,119
Jl 1,044,163
[Ea 231,269
A2l (=EMEELSIH) 1,275,432 1,662,551 A387,119
Jl 1,044,163
s 231,269
2| HEFOUX A (HHPA FRIXALY) 576,563 569,609 16,954
Jl 556,563
= 20,000
201 Ler=23 | 23,500 43,000 219,500
) 23,500
03 A2 b 23,500 43,000 219,500
O8RS AIL 23,500
—SHTSEUN A (R A
23,500,000& 23,500
) 23,500
401 AlZHIZ S0 174,985 188,610 N13,625
Jl 154,985
= 20,000
01 Al&H| 174,985 188,610 13,625
Q4B A Z0IT| 2 AR
174,985,000 174,985
Jl 154,985
s 20,000
402 2I2EX=201H 378,078 327,99 50,079
7l 378,078
02 QI XHZ AL E R (01X THE) 378,078 327,99 50,079
O=HAAFAUX A
378,078,000 378,078
Il 378,078
sd=H SEXZ AL 524,080 912,000 N387,950
) 330,000
o 194,050
207 ARl 50,000 50,000
01 ARSI 50,000 50,000
020258 SEXEAY EtSETAIZES
50,000,000 50,000
402 QI2F X201 & 474,050 912,000 437,950
Il 330,000
= 144,050
03 2IZH2AETAI I 474,050 912,000 A437,950
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FA S2telt
B LAY
SRl A2 (SENLESSSIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OzSBAZ(LPG) ESAE (HE)
474.,050,000& 474,050
Jl 330,000
Ea 144,050
FOIXI ARG EOLSLBXI (S2==H) 55,769 59,942 N4173
Il 38,550
o 17,219
101 e124d| 45,489 43,493 1,996
Jl 35,550
T 9,939
03 SR (RINHA) 222+ 45,489 43,493 1,99
O%B DALY Q1|2 45,489
—Jl=2E3(1852)
2,564, 7002« 1H* 122 30,777
Jl 25,144
o 5,633
—XExE 100,000& x 12 =123 1,200
Jl 1,200
—tel=g 50,0002 x1& 122 600
Il 600
—ZHIAHI 140,0002x 1+ 122 1,680
Jl 1,680
—d0=3 2,564, 7003 *50%+32] 3,848
Jl 3,848
—SEFOHI 2,564, 7002 «60%*22] 3,078
Il 3,078
—IIE=E 20,0002 28 122 480
—dx=maEsiteg 104,640 13 1,361
—AlZtelag
20,5403« 12+ 10A1 2+ 123 2,465
201 ger=3| 2,000 6,169 A4,169
01 AtR2tc|HI 2,000 500 1,500
O%#PA ZOXAAIY 2
2,000,000& 2,000
202 04l 3,000 5,000 22,000
Il 3,000
01 2LHA LI 3,000 5,000 A2,000
OAtE =TI A e Z S 3,000,000& 3,000
Jl 3,000
4 HSFEESS 5,280 5,280
04 SRA(RIH)22N BEE=RES S 5,280 5,280
O+ FAUXEAMY 22X DS LY
44,000,000 *12% 5,280
22X 2 10,700 12,000 21,300
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Hu: LEDH
ohel: 2Rl (SRS (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 10,700
401 AIEHIX 20 10,700 12,000 21,300
Il 10,700
01 Al&H| 10,700 12,000 21,300
FHLAY H: 2 OHHE XA
10,700,000& » 14 10,700
) 10,700
AEE2ACAL (SL=H) 57,950 61,000 23,050
Jl 57,950
207 AR 57,950 61,000 A3,050
Jl 57,950
01 1= 57,950 61,000 A3,050
O=Z+H g5 0188t 9 57,950
—sZ==AH(SEA, =2=8)
57,950,000 * 14! 57,950
Jl 57,950
s/ (T Z=H) 50,400 58,000 27,600
Il 50,400
207 ARl 50,400 58,000 27,600
Jl 50,400
01 H7ESHI 50,400 58,000 27,600
Ol 2Eseac| 0B} A71E
o 49,000
—HTLLH(Q4A, QEA)
49,000,000 *14] 49,000
Jl 49,000
OtisAZAIE 2LIHY 89 1,400
—EE YA SBIZAIE (L)
1,400,0002 %14 1,400
Jl 1,400
Hees(S22in) 2,820,000 3,402,928 A582,928
Il 2,820,000
WEHHXIE (=ML SESIH) (FEHNESESIH) 2,820,000 3,402,928 N582,928
Jl 2,820,000
LA BES(HHIIZALER 29)(2X) 2,342,000 2,595,030 253,030
Jl 2,342,000
701 JIEtRI NS HES 2,342,000 2,595,030 A253,030
) 2,342,000
01 It AN ES 2,342,000 2,595,030 A253,030
O8I IZAL2Y X2 (Gt=HelE)
1,895,000,000& 1,895,000
Jl 1,895,000
OZIIZAL2Y X2 (Gt==HelE)(0I13)
447,000,000 447,000
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PN T e
Ol LIS HRI S (SR WL SE S| H) (SR ASE3IH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | 47,000
L=AHIIS HES(HIE2SHZAM)(EX) 31,000 30,898 102
Jl 31,000
701 JIEtRI NS EHES 31,000 30,898 102
) 31,000
01 JIEI AN ES 31,000 30,898 102
OHIEEHLA(AIBSX &xl L 2i2))
31,000,000& 31,000
Jl 31,000
St=Eo X1 & 2el (S22 FH]) 447,000 777,000 A330,000
7l 447,000
701 JIEtRI HSHES 447,000 777,000 /330,000
Il 447,000
01 It AN ES 447,000 777,000 /330,000
OB+ SB35 (YN T OISEHEEHY|
Atd) 81,000
) 81,000
Odt==SE3H (Z=X7 St=22FBIA
&) 366,000
Jl 366,000
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